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Item Middle Size Bus Full Size Bus
Length (mm) 9,000 10,955
Width (mm) 2,300 2,490
High (mm) 3,000 3,095
Passenger (person) 59 + 1 Driver 67 + 1 Driver
Vehicle Mass (kg) 7,800 11,000
Vehicle Mass with
50% Passengers (kg) 9,450 12,870
Type PM Synchronous
Traction Rated Power kW 128 (64><2)
Motor Max. Power kW 192 (96x<2)
System I\ x. Torque (Nm) 640 (3202)
Max. Speed (rpm) 12,000
Reduction Gear Ratio 15 20
Wheel Diameter (m) 0.82 0.94
Coefficiency of
Rolling Resistance 0.010 0.010
(N/N)
Air Drug Force 0.162 0.171
(N/ (kn/h)® ) )
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Speed / AC
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- Maximum All Time |Running Time
gr;:mg Location Speed Average Average
attern (km/h) |Speed (km/h)|Speed (km/h)
15-mode (Urban) 40 15.6 23.5
- Suburban Station -
Line-A Housing Complex 35 17.7 20.8
N Suburban Station -
Line-B Another Station 40 16.2 22.1
- Subway Station -
Line-C-1 Coastal Region 56 19.3 24.4
- Coastal Region -
Line-C-2 Subway Station 57 14.3 24.9
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Condition Vehicle Time Acc. or Dec.
Speed (km/h) (sec) Rate (km/h/sec)
Slow 0-30 15 2
Accleration 050 25 2
Steep 0-30 7.5 4
Accleration 0-50 12.5 4
Slow 30-0 15 2
Deceleration 500 25 2
steep 30-0 7.5 4
Deceleration 500 12.5 4
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